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2 0 2

2

0

2

model

2.502.753.003.253.503.754.004.25

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 2492, dchi2frac= 1.0



2 0 2

2

0

2

data

2.6 2.8 3.0 3.2 3.4

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.05

Fiber 450, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.84.0

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 648, dchi2frac= 1.0



2 0 2

2

0

2

data

2.53.03.54.04.55.0

2 0 2

2

0

2

model

2.502.753.003.253.503.754.004.25

2 0 2

2

0

2

residuals

0.20.00.20.40.60.8

Fiber 4093, dchi2frac= 1.0



2 0 2

2

0

2

data

2.502.753.003.253.503.754.004.25

2 0 2

2

0

2

model

2.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.0750.0500.0250.0000.0250.0500.0750.100

Fiber 2273, dchi2frac= 1.0



2 0 2

2

0

2

data

2.252.502.753.003.253.503.75

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.05

Fiber 2906, dchi2frac= 1.0



2 0 2

2

0

2

data

2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

model

2.2 2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.20.3

Fiber 4612, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.22.42.62.83.03.23.43.6

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 2734, dchi2frac= 1.0



2 0 2

2

0

2

data

2.252.502.753.003.253.503.754.00

2 0 2

2

0

2

model

2.22.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.00.10.20.30.40.50.6

Fiber 4968, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

residuals

0.0500.0250.0000.0250.0500.0750.1000.125

Fiber 4221, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.4

2 0 2

2

0

2

model

2.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.1500.1250.1000.0750.0500.0250.0000.0250.050

Fiber 4516, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

model

2.252.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.10.00.10.20.30.40.50.6

Fiber 240, dchi2frac= 1.0



2 0 2

2

0

2

data

2.252.502.753.003.253.503.754.00

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.20

Fiber 2856, dchi2frac= 1.0



2 0 2

2

0

2

data

2.2 2.4 2.6 2.8 3.0

2 0 2

2

0

2

model

2.2 2.4 2.6 2.8 3.0

2 0 2

2

0

2

residuals

0.1000.0750.0500.0250.0000.0250.0500.075

Fiber 1493, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

model

2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.0750.0500.0250.0000.0250.0500.0750.1000.125

Fiber 631, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.03.23.4

2 0 2

2

0

2

model

2.02.22.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.120.100.080.060.040.020.000.020.04

Fiber 369, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.1000.0750.0500.0250.0000.0250.0500.075

Fiber 1249, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.05

Fiber 248, dchi2frac= 1.0



2 0 2

2

0

2

data

2.62.83.03.23.43.63.84.0

2 0 2

2

0

2

model

2.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.050.10

Fiber 2228, dchi2frac= 1.0



2 0 2

2

0

2

data

2.62.83.03.23.4

2 0 2

2

0

2

model

2.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 534, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.2

2 0 2

2

0

2

model

2.22.42.62.83.03.2

2 0 2

2

0

2

residuals

0.1000.0750.0500.0250.0000.0250.050

Fiber 4570, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.22.42.62.83.03.23.43.6

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.20

Fiber 2663, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.4

2 0 2

2

0

2

model

2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.1250.1000.0750.0500.0250.0000.0250.050

Fiber 761, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.2

2 0 2

2

0

2

model

2.2 2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 2614, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.2

2 0 2

2

0

2

model

2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.100.050.000.05

Fiber 4101, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.03.2

2 0 2

2

0

2

model

1.82.02.22.42.62.83.03.2

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.040.06

Fiber 1380, dchi2frac= 1.0



2 0 2

2

0

2

data

2.252.502.753.003.253.503.754.00

2 0 2

2

0

2

model

2.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 4183, dchi2frac= 1.0



2 0 2

2

0

2

data

2.502.753.003.253.503.754.004.25

2 0 2

2

0

2

model

2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0

Fiber 290, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 2678, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.23.43.63.8

2 0 2

2

0

2

model

2.252.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.20.10.00.10.20.3

Fiber 399, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.83.03.23.43.63.84.0

2 0 2

2

0

2

residuals

0.4 0.20.0 0.2

Fiber 4557, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2 0.3

Fiber 948, dchi2frac= 1.0



2 0 2

2

0

2

data

1.82.02.22.42.62.8

2 0 2

2

0

2

model

1.82.02.22.42.62.83.0

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.10.2

Fiber 1079, dchi2frac= 1.0



2 0 2

2

0

2

data

2.53.03.54.04.55.05.56.0

2 0 2

2

0

2

model

2.53.03.54.04.55.05.56.0

2 0 2

2

0

2

residuals

0.000.050.100.150.200.250.30

Fiber 4918, dchi2frac= 1.0



2 0 2

2

0

2

data

1.82.02.22.42.62.83.03.2

2 0 2

2

0

2

model

1.82.02.22.42.62.83.03.2

2 0 2

2

0

2

residuals

0.060.040.020.000.02

Fiber 1191, dchi2frac= 1.0



2 0 2

2

0

2

data

2.53.03.54.04.55.0

2 0 2

2

0

2

model

2.53.03.54.04.5

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.100.150.20

Fiber 2428, dchi2frac= 1.0



2 0 2

2

0

2

data

2.83.03.23.43.63.84.04.24.4

2 0 2

2

0

2

model

2.753.003.253.503.754.004.254.50

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 4912, dchi2frac= 1.0


